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QUESTION 1

Which default protocol and port are used for JIMS to SRX client communication?

A. WMI over TCP; port 389

B. ADSI over TCP; port 389

C. HTTPS over TCP: port 443

D. RPC over TCP, port 135

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/jims/topics/task/configuration/jims-

certificateconfiguring.html#:~:text=By%?20default%2C%20the%20HT TPS%20port%20is%20443.andtext=The%20JIMS
%20server%20communicates%20with, Firewall%20t0%20allow%20this%20communication

QUESTION 2

In an Active/Active chassis cluster deployment, which chassis cluster component is responsible for RGO traffic?
A. the backup routing engine of the primary node

B. the master routing engine of the secondary node

C. the primary node

D. the secondary node

Correct Answer: C

QUESTION 3

When considering managed sessions, which configuration parameter determines how full the session table must be to
implement the early age-out function?

A. session service timeout
B. high waremark
C. low watermark
D. policy rematch

Correct Answer: B
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QUESTION 4

Your manager asks you to find employees that are watching YouTube during office hours. Which AppSecure
component would you configure to accomplish this task?

A. AppQoE
B. AppFW
C. AppTrack
D. AppQoS

Correct Answer: C

QUESTION 5

What are two types of collectors for the JATP core engine? (Choose two.)
A. SNMP

B. e-mail

C. Web

D. telemetry

Correct Answer: BC

QUESTION 6

Which statement about the control link in a chassis cluster is correct?
A. A cluster can have redundant control links.

B. Recovering from a control link failure requires a reboot.

C. The control link heartbeats contain the configuration file of the nodes.
D. The control messages sent over the link are encrypted by default.
Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-chassis-clusterdual-control-
links.html
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QUESTION 7

What are two types of attack objects used by IPS on SRX Series devices? (Choose two.)
A. protocol anomaly-based attacks

B. spam-based attacks

C. signature-based attacks

D. DDoS-based attacks

Correct Answer: AC

QUESTION 8

You must deploy AppSecure in your network to block risky applications.

In this scenario, which two AppSecure features are required? (Choose two.)
A. AppFW

B. AppID

C. APBR

D. AppTrack

Correct Answer: BD

QUESTION 9

A routing change occurs on an SRX Series device that involves choosing a new egress interface. In this scenario, which
statement is true for all affected current sessions?

A. The current session are torn down only if the policy-rematchoption has been enabled.

B. The current sessions do not change.

C. The current sessions are torn down and go through first path processing based on the new route.
D. The current sessions might change based on the corresponding security policy.

Correct Answer: C
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QUESTION 10

The DNS ALG performs which three functions? (Choose three.)

A. The DNS ALG performs the IPv4 and IPv6 address transformations.
B. The DNS ALG performs DNS doctoring.

C. The DNS ALG modifies the DNS payload in NAT mode.

D. The DNS ALG performs DNSSEC.

E. The DNS ALG performs DNS load balancing.

Correct Answer: ABC

QUESTION 11

The AppQoE module of AppSecure provides which function?

A. The AppQoE module provides application-based routing.

B. The AppQoE module prioritizes important applications.

C. The AppQoE module provides routing, based on network conditions.
D. The AppQoE module blocks access to risky applications.

Correct Answer: A

QUESTION 12

You are asked to convert two standalone SRX Series devices to a chassis cluster deployment. You must ensure that
your IPsec tunnels will be compatible with the new deployment.

In this scenario, which two interfaces should be used when binding your tunnel endpoints? (Choose two.)
A. pp0

B. reth

C. 100

D. ge

Correct Answer: BD
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QUESTION 13

What are two examples of RTOs? (Choose two.)
A. IPsec SA entries

B. session table entries

C. fabric link probes

D. control link heartbeats

Correct Answer: CD

QUESTION 14

How many nodes are configurable in a chassis cluster using SRX Series devices?
A2

B. 4

C.6

D.8

Correct Answer: A

QUESTION 15

You want to deploy vSRX in Amazon Web Services (AWS) virtual private clouds (VPCs). Which two statements are true
in this scenario? (Choose two.)

A. The vSRX devices serving as local enforcement points for VPCs can be managed by a centralized Junos Space
Network Director instance.

B. MPLS LSPs can be used to connect vSRXs in different VPCs.
C. IPsec tunnels can be used to connect vSRX in different VPCs.

D. The vSRX devices serving as local enforcement points for VPCs can be managed by a centralized Junos Space
Security Director instance.

Correct Answer: CD
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